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Q: What is the molecular weight of a compound having 1 C and 1 O? ; || — 2CaCO03 + 2H20 ‘ ’

A: The atomic weight of C is 12 g/mol and the atomic weight of O is
16 g/mol. 12 + 16 = 28. Therefore, the answer is 28 g/mol.
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Q:What is the amount of 11 moles of Glucosamine?
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A: The molar mass of Glucosamine is 221.22 g/mol. Therefore, 11 . | . . L . .
: _ ’ A: First, use the molar mass list to determine || First, use the molar mass list to determine
moles of Glucosamine would be equal to 11 x 221.22 = 2434 .42 g. the molar mass of Aluminum carbonate. the molar mass of Aluminum carbonate.
- Al2(C0O3)3 << Molar mass list >> 342 g/mol || Al2(CO3)3 << Molar mass list >> 234 g/mol
- Second, use the molar mass list to Second, use the molar mass list to
} .I_.E%: L: (!j: < ;h» 5D Flzﬁﬂ f‘é‘ n Hi YTL@' A M\% determine the molar mass of C. determine the molar mass of C.
N S | oy “ . C << Molar mass list >> 12 g/mol C << Molar mass list >> 12 g/mol
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oo [+ 4= \\ Third, use the calculator to calculate the ird, use the calculator to calculate the
—§_ % ﬁ} al {lj: % 75\ [CObbe+ 202 ] ]# % n_( j:z__l_ mass percentage of C in Aluminum mass percentage of C in Aluminum
carbonate. carbonate.
B 0 . s - 12 x 3/ 342 x 100 = << Calculator >> 8.76 12 x 3 /234 x 100 = << Calculator >> 15.38
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Therefore, the mass percentage of C in Therefore, the mass percentage of C in
= A= SO NS 7N L4 e ' is 8.76%. Aluminum carbonate is 15.38%.
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l l First, use the molar mass list to determine the molar mass of Fe203.
W Fe203 << Molar mass list >> 160 g/mol
. N
Second, use the mplar mass list to determine the molar mass of O.
A: First, use the chemical reaction predictor to determine the chemical O << Molar mass list >> 16 g/mol
equation for the reaction. @D << AFBY —IL2 > H Third, use the calculator to calculate the mass percentage of O in Fe203.
Reactants: ?Ca(OH)2, 2C02 R &2 & HEsarhls 2 x 16 / 160 x 100 = << Calculator >> 20
Pr : 2 2H2 -
OdUCtS. CaCO?.” O : Therefore, the mass percentage of O in Fe203 is 20%.
<< Chemical reaction predictor >> B TR % - )
2Ca(OH)2 + 2C02 — 2CaCO03 + 2H20 HESSABAO [ B g
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Second, use the molar mass list to determine the molar mass of
Calcium hydroxide.
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Ca(OH)2 << Molar mass list >> 74 g/mol @ HeFmraha
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Therefore, 148 g of Calcium hydroxide is required.




